105

F

LA

B ROFTEREZME X v,

D 24=—-1+10x

® —8(1—x)=2(x+1)

0.6x+0.6=2.7

2 —6x—16=—1—9x

@ —6+9x=—-12

©®©702x—1)+x=—-3+8(x—4)

® —0.2x=—0.3x—0.1

7 45
—— =
© -5ty 9 18 %
5 1
I = ——
x—— 5 X

@D —4(7Tx—2)=29

—04x+5.6=—1.1x—0.7

@ —4x+7=2

/14




105

# M

2l

B ROFTEREZME X v,

D 24=—-1+10x

—10x=—-1—-24
—10x=—25
2x=5
-5
T

® —8(1—x)=2(x+1)
—8+8x=2x+2
8x—2x=2+8

6x =10

0.6x+0.6=2.7
6x+6=27
6x=27—06

6x =21

1 1 5
et —=—+2
) A . x

Wi 6 Z 9T

—3x+2 =5+12x

—15x =3
2 2 1 5
PR +_:————
® Fxt3 3 18 7%

MAIC 18 % 22 1F T
12x+12 = —6—5x

17x = —18

2 —6x—16=—1—9x

—6x+9x=—1+16

3x=15

x=5

I9x=—12+6
9x=—06
3x=-—2
__2
T3

©®©702x—1)+x=—-3+8(x—4)

15x—7=8x—35
15x—8x=—35+7

Tx=—28

® —0.2x=—0.3x—0.1

@ —6+9x=—-12

/14

@ —4x+7=2
—4x=2-7

—4x=-—5

@D —4(7Tx—2)=29
—28x+8=29
—28x=29-38
—28x=21
4x=-3

__ 3
* 4

—04x+5.6=—1.1x—0.7

—2x=—-3x—1 —4x+56=—11x—7
—2x+3x=-—1 —4x+11lx=—-7-56
x=-1 7x=—63
x=-—9
7 2 4 5
— J’__i__ [
© gty 9 18 7%
i 18 % 1 T
—14x+4 = —8+5x
-4 —19x = —12 .
5 x x 19
5 1
2y —— =9 — —
6 2 ¥
i 6 % HF T
12x—5 = 12—3x
18 17
*F 15x = 17 x = 1—5




